2ZEX ] 005A

HRTMUERERESH 2 FERRNZEE BEEEXBRE)

A (Bifz - M)
H H NER &
R b OfEE | fEEEHsbF¥Es (9,000,000)
kL (ZFERD fiREEEHSy  (74,600,000) 83,600,000
fREEHER NS | Ty MRZEIUA (8,012,000) HFESAILA
Z DL DOIA (2,990,000) ZDOfHITA (489,000) 11,491,000
U k2w 7 BMIA(17,000) « 77 > hZRERGE
HEFENA  (A) | FEEHA (20,000) B 8) k5 T BRI A 511,000
(474,,000)
YN
95,602,000
X H (BfL - F9)
H OH NER &
R fa5-F2 (35,318,000 EEMmAIE (4,563,000)
a JEA4 % (474,000) 40,355,000
— TEff (1,388,000) fR<FAfE (5,183,000)
Bl (3,835,000) fi A= 5 # e ih (1,229,000) 11,635,000
— JtEVK#E (11,569,000) #5452 (3,339,000)
FRLARR (3,044,000) FH#R#EA (5,144,000) 23,096,000
W FE (13,780,00) K& HRLEZE (2,989,000)
E 3 AlETIEEE (1,988,000) ziid2 (530,000) 20,468,000
Hmg¥E (1,181,000)
EEag
saliil
48,000
XHAE
95,602,000

¥ O 4 H~OF3HETOFHMOIEZTLAL TIIZE N,
X OFHENRERELZRS L TRELTCZS




2% EA 4] 00658

FRTUERERIESH 2 FERRNZES (BEEXRIE)

R A (B M)
H H W ER 4 KA
U Ry 73N @4 1 <3 #i45r) (346,000)
HES N, . .
F v M ZREIRGE TR (20,000) 366,000
e H ®) Mk 7¢ B F %% kB ( 500,000 )
EEN) o B
Z DI (34,000) 534,000
ILABFE
900,000
¥ H (BAfsr - A1)
H OH W R 4 KA
FRigEl (FgEs 181[n]) 7 A X b 18 [A)
N
216,000
i A @ik et &k (26,000)
gL,
H B e E SR (34,000) 60,000
R R (30,000) SEH 6 (5] X 3
FEE
Bt I8 i L s R (27,000) 7 7 6 [H] X 3 1] 57,000
FT7 T WA - F T UHIR - ARBRE
HEE _ .
F T A ES R} 56,000
ERICIVEEERH |V I v 7 FEIIE (17,0000 F7 v FZFER
EBRFICH THRR | e PEEHNAE (20,000) B BhEREHE FECEHIN S 511,000
# (A) (4'74,000)
XHAEE
900,000

% OF4A~OF3HAETO—FEBOINELEZFTAL T ZEN,
X OMEENREREEZRMLTIRBLTSEZEEN




